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(v) TUEGH5 3% Jrd F9720 & 22 7% & | a1 IR 197 150 91551 4 &1 /

(vi) U T T 6 37 Tt Fo723 @25 T & | 57T I YT 200 5G] G § [

(vii) Y¥7-97 7 HI3 GHI-TT7-1dHcT 397E 7871 &, adlT T 3% Jict 3 Fo1 4, i
3% It 2 F¥1 H, TR 3% it 2 F991 H, i 37 qict 1 §97 F a9 ¥ 3HE
FI7 1 597 7 faoheq 39cieer & | 08 Jo71 § 3719 BT U fdHeq F & I

g8 |

General Instructions :
(i) This question paper contains five Sections : A, B, C, D and E.

(it)  Section A contains questions 1 to 8 carrying one mark each. Answers to

these questions may be given in one word or a sentence.

(iit)  Section B contains questions 9 to 13 carrying three marks each. Answers

to these questions may be given in 50 — 75 words.

(iv)  Section C contains questions 14 to 19 carrying four marks each. Answers

to these questions may be given in about 120 words.

(v)  Section D contains questions 20 to 22 carrying five marks each. Answers

to these questions may be given in about 150 words.

(vi)  Section E contains questions 23 to 25 carrying six marks each. Answers to

these questions may be given in about 200 words.

(vii) There is no over-all-choice in the question paper, however an internal
choice has been provided in 3 questions of one mark, 2 questions of three
marks, 2 questions of four marks, 1 question of five marks and 1 question

of six marks. You have to attempt only one of the choices in such questions.
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Qus A
SECTION A

1. Yoy <l qir #§ “ufskan’ <h 31 difSw | 1

Give the meaning of ‘Process’ in the definition of mangement.

2. ‘Gl A WSH hl Th YR <hl Yofl TTETIhdl hl JWIfId Hdl g |
ITYTH e o FeH H TWIfad YSit o TR i TE=THT | 1

‘Technological Upgradation’ affects one of the types of -capital
requirement of an organisation. Identify the type of capital affected with

reference to the above statement.

3. T UG VHEN & | 98 Th AhE @TE @A hl ghH H g 3R I hH
g WM foarl 1 w4 6l | fehd @ % w19 39 a1 =T T 38 $9
Aigrer grft off | 9 @ fOFHT @ 3 9 8 I Yohd W A9 9 9d1 <o
3G § AEER) G off | 39 IUNRH SR 1 AW Sarsy e ST
ITHIAT TREIUT AT, 1986 & TEUMI o ITIHR T H3TES 1 Q@
Hehdl & | 1

Archana is a pure vegetarian. She went to a popular food chain shop and
asked for a packaged ‘Veg-Biryani’. While eating the same she noticed
that it had some non-vegetarian content. Neither the advertisement, nor
the label on the package showed that the product had non-vegetarian
content. Name the consumer right under which Archana can claim for

compensation as per the provisions of Consumer Protection Act, 1986.

4, ‘Jerg & gl T ‘Teey <l dehterl § IT=dHe il | 1
3reraT
‘OHY A’ U A I’ H ITade ity | 1

3 P.T.O.
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Distinguish between ‘Principles of Management’ and ‘Techniques of
Management’.

OR

Distinguish between ‘Time study’ and ‘Motion study’.

5. 39 wfwewr & fafy @1 am sase Sed g w $ee (W) wrikdl %
ARt H 19 T 8 |

AT
YN[ I IH TGN &k YR HI A0 qASC S TSI Sl Weal 1a fo=m o
ThiteT 9 feahife &t ufshan o T aTeft THENSTl 3R Shrael i Tefiia Hid
2|

Name the method of training in which the trainee works under the

guidance of a master worker.

OR

Name the type of barrier of communication which refers to problems and
obstructions in the process of encoding and decoding of message into

words or impressions.
6.  “Uhfomr @ I AT B 2
HAAAT
Toauue s’ & T gk & ®UH IcUg T FAT A B 2
What is meant by ‘Packaging’ ?

OR

Give the meaning of ‘Product’ as an element of ‘Marketing Mix’.
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7. TS IR f@n i sowinim & STer-o1a fawmm #§ M od 8 | T faq Quse
& WIS o @Y f@1 3 TS ¥ gl foh 0¢ & hRU 8 HHTE] hl T3T °
Bt g areft 7 |
TS q T o Hey g HUOT < YR 1 AW S8 | 1

Raj and Riya are working in different departments of Leo Infocom. One
day at lunch time Riya told Raj that due to recession many people are
going to be retrenched soon from the organisation.

Name the type of communication that took place between Raj and Riya.

8. U 3l fafiues mier asfhar 1 fuior v § gor off | 3HehT STl 3293
gfd a¥ fosha § gfg ik TR W Heal AT o1 | 38k I 389+ S &
Tog Hifd o foawomwor form | 9ok 39 399 A1 Witd W foT 384 TR Wi
TTsfeha 1 @lig W T 3,000 T G AT G W1 TG H 1 FHoRT T |
U9 e TTeRfud g R fosha & 9fg &% |
TS 377 fefide gru 19T U ASET S YRR I =T | 1

Raj Auto Ltd. was engaged in manufacturing motor cycles. Its long term
objective was to capture the market by increasing sales every year. For
this it analysed the pricing policy of the competitors. To achive this
objective it decided to offer a discount of ¥ 3,000 and free insurance on

purchase of every motor cycle. This attracted the customers and the sales
increased.

Identify the type of plan being followed by Raj Auto Ltd.

g us
SECTION B

9. TP, Sl Ush Ul bl e 8, 7 U4 Teh g5 hE@MH hl ShR AT
3T Hieh WaT Raei sAW 6 T o918 | 38 vl foen T @g fafmior
Th1g UTHIOT &1 T Temfud <ht STt arfer ITHior &5 O 1@ ool ATl ohl Hiehdl &
e 7 Tk | 38k T 38 3aT, i, @ar iR fifaes 1 shwwr: foshl,
AW, I T TR f9um & yg@El & w9 ° wE e | 3 feem 9, afes
g iR fesmsfm & @A 9 |

faft faumTi <T@l 1 == o IwETd 7Ih g FHYRher Sk § fog
I 9T 3T 19 = T IgW IS | 3

5 P.T.O.




G

Mayank, the director of a company, is planning to manufacture stuffed
toys for utilising waste material of one of his garments factories. He
decided that this manufacturing unit will be set up in a rural area, so
that people living in rural areas can have job opportunities. For this he
selected Arbaaz, Kriti, Lata and Ritik as heads of Sales, Accounts,
Purchase and Production departments respectively. They were differently

abled but intelligent and creative persons in designing.

State the next three steps Mayank has to follow in the staffing process

after selecting heads of different departments.

10. IRR gEhich IR SR § gfaqfeei 1 FHrodi A = HoHOdr 31 IR
TEsH, IR A Frl § -l F sanaera = gwiar @ o it
IR STgR & HIYCUE & &Y § ST ST & |

ITH HYF o THIT T IR AR o fohedil I HTa1 1 3@ hHIIT |
AUAT

yfayfd SR & ey IR e foshe % fow wa frawmeel & wwaw 7g
et wfayfa wa fafrgs i 6z i |

39T HH o TR H YA Sfayfd g fafm i€ & fordl i fames &t
1 3g@ HIT |

Stock index measures the movement of prices of securities at a stock
exchange. Stock index reflects the day-to-day fluctuations in stock prices
and are known as barometers of market behaviour of securities.

In the light of this statement, state any three functions of stock exchange.
OR

To promote orderly and healthy growth of securities market and
protection of investors, Securities and Exchange Board of India was set
up.

In the light of the given statement, state any three regulatory functions
of the Securities and Exchange Board of India.
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11. e 6 foregl 9 dimmst =1 3g@ i | 3
HAAAT
EIS o TG o (ohral dF g3l I Ig@ hig | 3
State any three limitations of Planning.
OR

State any three points of importance of Organising.

12. 37AT0 % Teehi o €9 § A’ TagilRica’ qen IoeIar i THEET | 3

Explain ‘Authority’ ‘Responsibility’ and ‘Accountability’ as elements of
delegation.

13. TEFAT IAA fAfee YRd d 3799 999 § 38Td T Ic9Ted o @l 2 | I8 39A
SEATT hl 9¢1 g% WIT 1 W 33T Wl & Flh o hi HATMAH fepr & 8%
T 7 | TG g3 WIT T BEGH I8M h [ T T AT HIF Bl ATH H
ASET SIS | TE AW @R T TR AU g9 o @ W fow e
T 4,000 HUS T T T o [T AT T 600 HUS hl TIIThal BHT |
TR HIY I THHAA B o TIu foma @t =1 3w foran sme qen fafire &t
T fopT U T Uehd foha STe I femmofia o | 3

(%) I afvla foemofia stggmon i TgaTi-e ta saet 31 ST |
(@) UH frl @ HROT I THIARY AT FFT hI I (F) H TgAM TS
YN ! THTIIT FLd & |

Sunflag Iron Ltd. is manufacturing steel at its plant in India. It is
enjoying increased demand for its steel as economic growth of the country
is about 8%. It is planning to set up a new plant to avail the benefits of
increased demand. It is estimated that it will require about ¥ 4,000 crore
for setting up of plant and about ¥ 600 crore for other expenses to start
the new plant.

To collect the above mentioned funds, the sources to be used and the
quantity to be collected from different sources had to be considered.

(a)  Identify the above discussed concept and give its meaning.

(b) Explain any two factors that affect the concept identified in
(a) above.

7 P.T.O.
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SECTION C

14. ‘Wi 9OR w@ fgdEe aWR H fheel AR faegatl % STUR W e

T |

atera
St S qe et e # fepedl wR forgaT W emeR W s i |

Differentiate between ‘Primary Market’ and ‘Secondary Market’ on the
basis of any four points.

OR

Differentiate between ‘Capital Market’ and ‘Money Market’ on the basis
of any four points.

15. ‘TeE @ fafies’ & dad ToiE g, S SHIvH % YR W FETE ke g
FA B | BITE T T ARV HISH A UTgehi bl feshe fodfia &+ & woemig @
T fea A 2 | Usd us 9 § 3T SUMUR H Hrhl wH 35 8 itk
SR ITHIH 3 daal Tsid] TET T WS daed’ sl AR I T &, S
Y H0E T e g feehe S &l 7 |
(%) ‘vwmyw @ fafies’ gro sraEtye qafee & g smem i sHeE

T T R IEehT A AT qAT I8 qHATST |
(@) 3I9H (F) U YgAM T AW & Afh ATa@ryes Gaiewr o fohet
I AT ! THATST |

‘Express Tours Ltd.’ is a travel agency which books air tickets on
commission basis. It takes two days for Express Tours to get the tickets
from airport reservation counter and deliver the same to customers.
During the last one year, there has been drastic decrease in its business
as most of the customers have shifted to another travel agency, ‘Shiva
Tours and Travels’, which provides tickets within half-an-hour through
internet.

(a) Name and explain the dimension of business environment that is
being overlooked by ‘Express Tours Ltd.’.

(b) Explain another dimension of business environment other than
that identified in (a) above.

66/1/3] 8
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16. Af9d 4 Fod WG YA s @ T 3,000 H T S THRE HAIH
T | 39 T fob i S e T8 W @ ft | B2 feeed v wosft
ot ARl argae fafies gro g S &t foham | 4
(%) 3IH IUURAT ATTHR hH Uga™ hifvT &1 IgEH Hiolad A T1gae
fafies gra fomam o |
(@) 39 9P B & GG ST @l ATaa 391 R g1 U Fehdl
7 |
(M) e 98 IUYH BE % W ¥ T T B, @ w1 98 g we #
A L Tehel & 2 AU 3T o U T HRUT ST |

Anchal purchased a food processing machine for ¥ 3,000 from ‘Kajal
Machinery Pvt. Ltd.” She found that the machine was not working
properly. Despite many complaints, the defect was not rectified by Kajal
Machinery Pvt. Ltd.

(a)  Identify the consumer right that has been violated by Kajal
Machinery Pvt. Ltd.

(b)  Suggest the appropriate forum where Anchal can file her
complaint.

(c) Can she appeal to the Supreme Court if she is not satisfied with
the order of the appropriate forum ? Give reason in support of your
answer.

17. ‘“fouu’ ot “fasha’ # e sy W sraie Hifvw 4
(%) IfshaT ST 9N S SATH 37
@) siferay fasha O oy oA ITEh Hqite

(
(1) e H AR
(9) TG H AR
JrrET
fquom i It STaynen’ d9ur Iaaig AaYnen’ § e myml W 3Tave
ﬁﬁﬂl: 4
(%) =g
(@) 7wl
() " e
()  Tmfeq

9 P.T.O.
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i
Differentiate between ‘Marketing’ and ‘Selling’ on the following basis :
(a)  Part of the process vs. wider term
(b)  Profit through maximising sales vs customer satisfaction
(c) Difference in the emphasis
(d) Difference in the strategies
OR
Differentiate between ‘Production concept’ and ‘Product concept’ of
marketing on the basis of :
(a) Meaning
(b)  Main focus

(¢) Means
(d) Ends

18. ‘gAl hiHeshew Urgae fifies’ & yeru fHewer 3 wfi favrfiy ysruspt & @Y
3% 1 | Ty gueh 7 HET foh IHM S H HICAYED B o AR
I2 gfosy 4 3 Aftes fome) <1 fais 3 & 9| o991 3 =ifeh hrd
7ot foem™ 3cute Ufth § e 3 IcuTe Sied S @ 2 | 39 3239 <kl Uiftd &
o e+ avft fovrfie s@t @ gema k@ foe | ey fgees 9 aea gerE
o ITMYR T Teh JIoHT d9R bl | Gt famfia geeent 3 IeHT <1 9req fomam |

() dqiirh 3@‘%‘}@3@3@@%@%%6%%3&
T |

(@) qca hl 3 T AT I FHATT |

The Managing Director of ‘Verma Chemicals Pvt. Ltd.” held a meeting of
all the departmental managers. In the meeting, the managing director
said that besides doing their current work efficiently, they also had to
make themselves capable of shouldering more responsibility in future as
the company is going to add an additional product to its existing product
line. For the realisation of this objective he invited suggestions from all
departmental heads. The Managing Director proposed a plan on the basis
of the suggestions received. All the departmental heads carried out the
plan.

(a)  Identify and give the meaning of the style of leadership referred in
the above para.

(b)  Explain the other two styles of leadership.
66/1/3 10
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19. ‘ArEeRl ATMEEed fade ®R fatar st & fore stfer uidm & fmior &
M B | I8 Tk 91 TG Tl HEAT B | IS I8 I I g3 § e e
U FIER H fIEr w1 AmEd 7 | 39 fofu 3@ deferfores fam
JMETIHAT & | HIHT o fod Jarereh, o791, 7 HIUHT & &I HRIBRT SR
I FHAT A o FHT G HIY W 6 T8 & | 59k forw Teiyes e
ARG 1 AEeIhal & | T & o =30 & g0 e o foqw et gon
SR 1 F8[T o1 | 4

(%) |l IWR % I8 Y9 H1 A QT S w0 ana e Q@ e
o U 39T T el B |

(@) gl 99N T Gofl SR H fohegl i STTeml ot sfmavig <hifY |

‘MICO Automobiles Ltd.” is engaged in manufacturing of auto parts for
car manufacturing companies. The company enjoys good
creditworthiness. It now wants to expand its business by investing in new
plant and machinery. For this it requires long terms finance. Arsh, the
Finance Manager of the company advised the CEO of the company to
raise funds by issuing equity shares. It requires huge floatation cost. To
meet the expenses of floatation cost the company decided to tap the
money market.

(a) Name the money market instrument the company can use for
meeting the floatation cost.

(b)  Differentiate between ‘money market’ and ‘capital market’ on any
three basis.

TS
SECTION D
20. fr=fafed feufaal o foqureshdl gRI ST <l 9 aTell foshd Haed dehishi
1 TgH H Y T 3g@ T | Ix5=5

(%) T 20,000 H T T T 5,000 T TFI TG T |

(@) U HieT @13t o T W T 1,60,000 1 JTAH, T 40,000 T a0
Y TRT T PAE T 6,000 T3 sl 20 T0H fohedi 7 |

(M) TEW % Grgq i fefrn § 30 am <ifafck wmEA |

(") TS G HETsd BF % @1 4 GB A9 HIE g |

(¥) 3fvea 3rfaat HIIRYHA & U2 941 ¥ T 2,500 % U o T T HR Hl
ARl T U |

11 P.T.O.
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Identify and state the techniques of sales promotion used by the

marketer in the following cases :

(a) A free holiday package of ¥ 5,000 on purchase of goods worth
< 20,000.

(b) Payment of ¥ 1,60,000 for the purchase of a bike can be made,
¥ 40,000 immediately and balance in 20 equal instalments of

T 6000 each.

(c) 30 grams extra soap in a cake of bathing soap.

(d)  Get 4 GB memory card free with a ‘Popo’ mobile phone.
(e) Lucky draw coupon for a car on purchase of petrol ¥ 2,500 from

Indian Oil Corporation petrol pumps.

21.  “firent fafiee’ & yeh e 1 SR i vt 6 FAFER Sfdafe 10 Al &
o 6 a1 | F© FHAET Bl S R 4 -6 TSl H1 i gkife
foren, oyl wH=IiEl 3 iU dex o g R | wHETE % SRl 6l
ot & fou geeem 3 s Ee § @@ A L T ol o
(%) 39 H afia yargehia & 6 ggeaH HIf |
(@) IWYFE (%) ¥ ggaH fohu U yergdhE wrf hi AR % =R

REEIE

Each employee of ‘Bhoomika Ltd.” should manufacture 10 tables per day
as per the terms of employment. All the employees met the said target
except a few who manufactured between 4 — 6 tables per day. The
management look a decision to install Closed Circuit Television (CCTV’s)
in the factory for monitoring the activities of the employees.

(a)  Identify the managerial function discussed above.

(b)  Explain the steps in the process of the function identified in (a)
above.

66/1/3] 12
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22. SAEHIRH YHTROT hi fehral Ui faRivaret =1 3g@ HIf | 5
YT
U 1 Tl ure fomaret =1 3g@ Hifve | 5
State any five characteristics of business environment.
OR

State any five characteristics of Co-ordination.

wus g
SECTION E

23.  HIA YT SR, T 4 IEY T H ITcH(eh ANEH fadm B S YEHehi & fou
M HE B HT YR §H TAT & | IR 1 Gl o1 fh HF H1 S5l
foeeiwor 1 T, 38 FE BT Th I3 T IdT AET THG BT | SH, SHeh
AT qAT T ST T hEcHoh BIAART o hRUT ATk IATe foham STa
2 | 359 gl b, U URNda dqen A YEY 99T HEAR Ud Aaydd-TcHe
HET o HET HIEIGH ¥ It YRUMH ITed 81 | Hata 4 dauemn 76 T yagh
! AT BT KT FMEY 9AT 39 H1E bl i o 0C fora fagr=ai =1 9o e

=MfET |
I9Yh U b MR W IR qAT AT < IMEH H Fe el | ravig

HIT 6
(%) ufce

(@) e i T

(M) kg (BIHH)

(b)) AR

(8) TSI

(|) AT T IMER

66/1/3 19 P.T.0.
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Fayol and Taylor both have contributed immensely to the knowledge of
management, which has become a basis for further practice by managers.
Taylor thought that by scientifically analysing work it would be possible
to find ‘one best way’ to do it. He is most remembered for his time and
motion studies and functional foremanship. He said that the best result
would come from the partnership between a trained and qualified
management and a cooperative and innovative workforce. Fayol
explained what amounts to a manager’s work and what principles should

be followed in doing this work.

In the light of the above discussion, differentiate between the

contribution of Taylor and Fayol on the following basis :
(a)  Perspective

(b)  Unity of command

(c) Focus

(d) Expression

(e)  Applicability

) Basis of formation

24, HiEd, WM fAfRE § I0eAd o €4 H HE K W 7 | 98 TH gUS al
fafsre @Rt wtar 7, Sed oHa gegi & fafie gge] 8§ | 391 S d@1eT
Y fehe | Je1 g3 2 Hifeh WL q 95 old < wwetd, 394 UGl W Hd
o fou saferll i STTeRaeRdT Bt @ | 36 FR H Y9 F TH AT B F
®9 H <@ I & | 9 I8 9 Haedl I Fegd w1 &, IHh! YHHI oA

Hfira &1 St 2 |
(%) o fafies o Iueder & &9 A Agd g Fsaifea & i gg=m
shifoTe qem gEeRT 319 THETST |

(@) e grn fromfe v & Hed @ 95 & @ B @ | W TRl dre
1 T 3@ HIfTT |
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Mohan is working as a vice-president in Ashoka Ltd. He performs a
separate and specialised function having many aspects of human
relations. His job is closely linked with organising since after the
structure and positions have been decided, people are required to work in
these positions. His function is seen as a generic function of management.
When he performs his duties, his role is slightly limited.

(a) Identify and explain the meaning of the function being performed
by Mohan as the vice-president of Ashoka Ltd.

(b)  The function performed by Mohan benefits the organisation in
many ways. State any five such benefits.

25. TS o wewe % foheal =R feg3tl sl §9ETsy |
AT
‘SNu=iier’ Td ‘STI=ies. T8 § fohrgl ©: STU™ W 3T=dye hIfSu |
Explain any four points of importance of planning.

OR

Differentiate between ‘formal’ and ‘informal’ organisation on any six
basis.
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